

Republic of the Philippines Office of the President

PHILIPPINE SPORTS COMMISSION



REQUEST FOR QUOTATION

The Philippine Sports Commission, through its Bids & Awards Committee, invites interested **PHILGEPS-accredited** suppliers to submit SEALED and signed formal quotation/s for:

Particular							ABC (PHP)	Place of Delivery
Supply and Delivery of Various Materials for the Repair and Beautification Works at Philsports	1	Description LED Fluorescent Tube (Branded) >Power 18 watts >Fittings: t8/g13 >Daylight >Single-ended Type >Voltage: 100-240V >Dimension: 43 x 1220 x 31mm	<u>Qty</u> 100	<u>Unit</u> pcs	Unit Cost 240.00	<u>Total Cost</u> 24,000.00	995,370.00	Philsports Complex, Meralco Avenue, Pasig City
Arena	2	>Lifehours: 10,000 LED Fluorescent Tube (Branded) >Power 18 Watts >Fittings: t8/g13 >Daylight >Double-ended Type >Voltage: 220-240V >Dimension: 28 x 499 x 4mm	100	pcs	240.00	24,000.00		
	3	>Lifehours: 10,000 LED Bulb (Branded) >Power: 12 watts >Cap: E27 >Color: Daylights >Lumen: 1300	100	pcs	140.00	14,000.00		
	4	LED Round Panel Light (Branded) >Power: 6 watts >Color: 3000k Warm White >Diameter: 3.5 inches	100	pcs	240.00	24,000.00		
	5	LED Round Panel >Power: 12 Watts >Color: 3000k Warm White	100	pcs	350.00	35,000.00		
	6	>Diameter: 5 inches LED Round Panel Light (Branded) >Power: 15 watts >Diameter: 6 inches	50	pcs	400.00	20,000.00		
	7	LED Round Panel Light (Branded) ***more on next page***	100	pcs	450.00	45,000.00		

	>Power: 18 watts >Color: 3000k >Warm White				
8	>Diameter: 8 inches LED Square Panel Light (Branded) >Power: 40watts >Daylight 6500k >Dimension: 600mm x 600mm >AC 220-240 >50/60Hz	100	pcs	2,700.00	270,000.00
9	LED Striplight (Branded) >Power: 14.4 watts >Color: Warm White >3000k >220V >Finish: Matte >Materials: PVC >Series Linear	150	meters	300.00	45,000.00
10	LED Striplight Plug (Branded) >V= 220V >Pins = 220V >Pins = 2 Pins	10	pcs	300.00	3,000.00
11	Wide Series Duplex Universal Outlet With Ground Shutter (Branded) >Color: Metallic Gray >16 Amperes >250 volts	40	sets	390.00	15,600.00
12	Wide Series 1 Gang illuminated Switch with Plate and Cover (Branded) >1 Way	25	sets	330.00	8,250.00
13	>Color: White Wide Series 2 Gang illuminated Switch with Plate and Cover (Branded) >1 Way >Color: White	25	sets	690.00	17,250.00
14	Wide Series 3 Gang illuminated Switch with Plate and Cover (Branded) >1 Way >Color: White	25	sets	1,000.00	25,000.00
15	Copper Wire >3.5 sq. mm >THHN/THWN >Color: Black >150m/box	6	box	3,960.00	23,760.00
16	Copper Wire >5.5 sq. mm ***more on next page***	6	box	6,060.00	36,360.00

	>THHN/THWN >Color: Black					
	>100m/box					
17	Copper Wire	2	box	9,500.00	19,000.00	
	>8.0 sq. mm >THHN/THWN					
	>Color: Black					
	>100m/box					
18	Flat Cord # 16 >Color: White	1	roll	2,500.00	2,500.00	
	>150m/roll					
19	Royal Cord,	2	rolls	14,500.00	29,000.00	
	>8.0sq.mm					
20	>2 core, 75m/roll Vinyl Electrical	20	pcs	45.00	900.00	
	>Dimension: 0.16mm		poo	40.00	000.00	
	(Thickness) x 19mm					
	(Width) x 16m (Length)					
21	Soldering Lead	5	rolls	500.00	2,500.00	
	>200 G					
	>1.0 mm (Thickness) >60/40 Solder LED					
22	Soldering Paste	10	pcs	250.00	2,500.00	
	(Branded)				,	
23	>Non-Corrosive, 50g Double Sided Tape	10	roll	35.00	350.00	
25	(Branded)	10	1011	35.00	350.00	
	>Dimension: 10mm					
	(Width) x 30meter					
24	(Length) Exhaust Fan	28	sets	1,100.00	30,800.00	
	(Branded)			.,	33,333.33	
	>8" Ceiling Mounted					
	>Airflow: 8.2m³/min >Power:					
	230v/60Hz/26watts					
	>8" (L) x 8" (W)					
	>Motor Type: 100% copper motor					
	>Noise Level: 48bd					
25	Stainless Bidet	50	sets	650.00	32,500.00	
26	Door Knob (Branded)	20	sets	750.00	15,000.00	
	>Finish Stainless					
	Steel					
	>Lock Button Push type					
	>Anti-Rust					
07	>Number of Keys 3	00				
27	Thermal Overload Relay	20	pcs	1,360.00	27,200.00	
	>1-1.6AMP					
	>Dimension:6" (L) x					
	3.96" (W) x 3.6" (Depth)					
28	Cementitious	5	tins	3,120.00	15,600.00	
	more on next page					

	Waterproofing (Branded)				
29	>Acrylic Polymer Cement (Branded) >40kg	20	bags	245.00	4,900.00
30	Tile Adhesive Original (Branded) >25 kg	10	bags	340.00	3,400.00
31	Non-Skid Floor >60cm x 60cm >Color: Gray	100	pcs	175.00	17,500.00
32	Ceramics Marine Plywood >1/2 inch (thk) x 4ft (W) x 8ft (L)	20	pcs	900.00	18,000.00
33	Good Lumber >2" (thk) x 2" (W) x 12' (L)	30	pcs	380.00	11,400.00
34	Reflector Traffic Paint (Branded) >Yellow, 4L	10	gals	1,100.00	11,000.00
35	Reflector Traffic Paint (Branded) >Black, 4L	10	gals	1,100.00	11,000.00
36	Quick Drying Enamel (Branded) >Black, 4L	10	gals	650.00	6,500.00
37	Flat Latex (Branded) >White, 4L	10	gals	630.00	6,300.00
38	Semi-Gloss Latex (Branded) >Winter Morning, 4L	40	gals	750.00	30,000.00
39	Semi-Gloss Latex (Branded) >Shaded Ice, 4L	40	gals	800.00	32,000.00
40	Roof Paint >Gloss Acrylic >Water-based >Color: Spanish Red	10	gals	600.00	6,000.00
41	Skimcoat (Branded) >Super Fine >White, 20kg	10	bags	550.00	5,500.00
42	Putty Trowel >75mm Width	10	pcs	30.00	300.00
43	Paint Thinner (Branded)	4	tins	2,200.00	8,800.00
44	Lacquer Thinner (Branded)	4	tins	2,200.00	8,800.00
45	Plastering Trowel,	5	pcs	120.00	600.00
46	Sandpaper, # 100	50	pcs	15.00	750.00
47	Paint Brush, 2"	10	pcs	40.00	400.00
48	Paint Brush, 3"	10	pcs	55.00	550.00
49	Paint Brush, 4"	10	pcs	85.00	850.00
50	Baby Roller, 6" ***more on next page***	10	pcs	65.00	650.00

51	>(W) Cotton Paint Roller, 7" >(W) w/ tray	10	pcs	120.00	1,200.00
52	Estopa Rugs Tile Grout >2kg >Color: Gray ***nothing follows***	5	kgs	90.00	450.00
53		5	plastics	90.00	450.00

Delivery Terms: Fifteen (15) Calendar Days

The following documents must be submitted from 20 February 2024 10:00 am of 23 February 2024 directly to the Bids and Awards Committee Secretariat Office, located at Room 207, Admin. Building, RMSC, P. Ocampo Sr. St. Malate Manila:

- 1. PHILGEPS Registration or PHILGEPS Certificate
- 2. Omnibus Sworn Statement (notarized)
- 3. 2024 Mayor's/Business Permit
- 4. ITR 2022

Quotations must be properly labeled with the reference number on the project offered. In case the deadline falls on a non-working day, legal holiday, or special non-working holiday, the deadline shall be on the next working day

For additional information, please contact the Procurement Office at Telefax: 523-9831 Loc. 175/143

The Commission reserves the right to not accept any and all quotations or not award the contract on the following grounds:

- There is prima facie evidence of collusion;
- The BAC failed to follow prescribed procurement procedures; and or
- There are justifiable grounds where the contract will not redound to the benefit of the government without incurring any liability to the affected bidder/s.

DIR. PAULO FRANCISCO C. TATAD

BAC Chairman

Date Posted on Philgeps and PSC website: February 20, 2024

RFQ02192024